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Question 1: 

Define a plan. 
ANSWER: 

A plan is a proposed list of goals that an economy wants to achieve within a specific 
period of time. It suggests the optimum ways to utilise the scarce available resources to 
achieve the enlisted goals. In India, planning is done for a period of five years, which is 
called five year plan. Plans have both specific and general goals. Some of the common 
goals are economic growth, modernisation, self-reliance and equity. Plans lay down the 
basic framework over which the policies are designed. Often various goals are conflicting 
to each other, for example, modernisation reduces labour employment. So there is a 

need to maintain a balance among different goals. 

Question 2: 

Why did India opt for planning? 
ANSWER: 

Soon after independence, India faced an important choice to opt either for capitalism or 
socialism. Finally, India, inspired by the extraordinary success of planning in Soviet 
Union, opted for socialism. Although, Indian political and economic conditions were not 
as favourable as it was for Soviet Unions to opt for socialism, yet India adopted socialism 
but with a difference. India hinged upon the socialist idea with a strong emphasis on 
public sector and active participation of the private sector in a democratic framework. 
The Planning Commission (1950) was established with the motive that the government 
would undertake comprehensive planning for the nation as a whole, where public sector 
would lay down the basic economic framework and would encourage private sector for 
their active contribution to the economic growth. 

Question 3: 

Why should plans have goals? 



ANSWER: 

Every plan should have specified goals. Plan without goal is like life without soul. While 
a plan specifies the means and ways to allocate scarce resources to achieve proposed 
targets, goals are the ultimate targets, the achievement of which ensures the success of 

plans. Thus, plans must include the goals. 

Question 4: 

What are high Yielding Variety (HYV) seeds ? 
ANSWER: 

High Yielding Variety of seeds was developed by the Nobel Laureate Dr. Narman Barlauf 
in Mexico. These seeds are more productive and need regular and adequate irrigation 
facilities along with greater use of fertilisers and pesticides. In 1966, consequent to the 
use of HYV seeds, Indian agricultural sector experienced Green Revolution, especially 
in the crops of rice and wheat. HYV seeds grow faster than the normal seeds and, 
consequently, crops can be harvested in a much shorter time period. Initially, HYV seeds 
were used in states like Punjab, Andhra Pradesh and Tamil Nadu (as these states had 
more suitable irrigation facilities) and later on to other states. Consequent to the use of 

HYV seeds, the production of food grains in 1967-68 increased by 25% (approx). 

Question 5: 

What is marketable surplus? 

ANSWER: 

Marketable surplus refers to the difference between the total output produced by a farmer 
and his on-farm consumption. In other words, it is that portion of the total output that the 
farmer sells in the market. 

Marketable surplus = Total farm output produced by farmer – Own consumption of farm 
output 

Question 6: 

Explain the need and type of land reforms implemented in the agriculture sector. 
ANSWER: 

The need for land reforms in India was very necessary due to the following reasons: 

1. Land Tenure System: There were three types of land tenure systems namely, 
the Zamindari System, the Mahalwari System and the Ryotwari System prevalent in the 



Indian agricultural sector at the time of independence. The common feature of these 
three systems was that the land was mostly cultivated by the tenants and the land 
revenues were paid by them to their landlords. This led to the exploitation of tenants in 
the form of exorbitant rents. 

2. Size of Land Holdings: The size of land holdings owned by the farmers was very 
small. In addition, the land holdings were fragmented. This obstructed the use of modern 
techniques. 

3. Lack of Initiative: As most of the land was owned by the landlords, so the farmers 
lacked initiative and neither had enough means to undertake mechanised methods of 
cultivation. 

4. Traditional Approach and Low Productivity: Indian farmers used to rely on the 
conventional and the traditional inputs and methods and climatic conditions that 
hampered the productivity of agricultural sector. 

5. Absence of Marketing System: Due to the absence of well developed marketing 
system, the farmers used to rely on the intermediaries to sell their product in the market. 
These intermediaries used to purchase the farm products at a very low price and sell 
them at higher price at market. Consequently, the correct profit share did not accrue to 
the farmer and, hence, this led to the lack of finance and investment on farm. 

6. Nature of Farming: The basic motive for farming was for subsistence. That is, 
farming was done basically to earn survival and not for sale and to earn profit. 

Due to the above problems in the Indian agriculture, it was very necessary to undertake 
land reforms. Land reforms comprise of the following steps:- 

1. Abolishing Intermediaries: The prime focus of land reforms was to abolish 
intermediaries like Zamindars, Jagirdars, etc. There were many steps undertaken to 
make the tillers, the owners of the land. 

2. Regulation of Rent: The cultivators were exploited in the form of exorbitant rents. In 
the first five year plan, the maximum rent fixed was one-fourth or one-fifth of the total 

farm produce (except in Punjab and Haryana, where it was  rd). The regulations of rent 
not only reduced the burden from the tenants but also enabled them with greater portion 
of finance to invest on farm. 

3. Consolidation of Holdings: As the land holdings were small and also fragmented, 
so it was very necessary to consolidate the land holdings for the use of modern and 
advanced technology. The farmers were given consolidated holdings equal to the total 
of the land in their various fragmented plots. This enabled them the benefits associated 
with the large scale production. 



4. Land Ceilings: It means legislated fixed amount of land that an individual may hold. 
The basic motive behind this step was to promote equality of ownership of land holdings. 
This eradicated the concentration of land holdings in few hands. Government used to 
confiscate the excess land over the fixed amount of land and distribute it among the 
landless farmers. 

5. Co-operative Farming: This step was taken to counter the problems due to sub-
division of holdings. Small scale farming by an individual land holder is neither profitable 
nor productive, so, these steps encouraged different farmers to pool their farms and 
perform farming jointly. This enhanced the productivity and greater profits were shared 
by the individual farmers. 

  

Question 7: 

What is Green Revolution? Why was it implemented and how did it benefit the farmers? 
Explain in brief. 

ANSWER: 

Due to low productivity, frequent occurrence of famines and low levels of agricultural 
products in the latter half of second five year plan, a team was formed to suggest various 
ways to counter these problems. As per the recommendations of the team, government 
introduced the use of HYV seeds, modern techniques and inputs like fertilisers, irrigation 
facilities and subsidised credit. These steps collectively are known as Intensive Area 
Development Programme (IADP). Consequently, in the year 1967-68, food grains 
production increased nearly by 25%. Due to this substantial increase of food grains 
production, this outcome is known as ‘Green Revolution’. The word Green Revolution 
comprises of two words ‘Green’ that is associated to crops and ‘Revolution’ is associated 
to the substantial increase. 

Need of Green Revolution 

The needs of Green Revolution are as follows. 

1. Low Irrigation Facility: The well irrigated and permanent irrigated area was only 17% 
in 1951. The major part of area was dependent on rainfall and, consequently, agriculture 
suffered from low level of production. 

2. Conventional and Traditional Approach: The use of conventional inputs and 
absence of modern techniques further hampered the agricultural productivity. 

3. Frequent Occurrence of Famines: Famines in India were very frequent during the 
period 1940s to 1970s. Further, due to higher growth rate of populations, agriculture 
failed to grow at the same speed. 



4. Lack of Finance (credit): Small and marginal farmers found it very difficult to get 
finance and credit at cheap rate from the government and banks ,hence, fell an easy 
prey to the money lenders. 

5. Self-sufficiency: Due to the traditional agricultural practices, low productivity, and to 
feed growing population, often food grains were imported that drained away scarce 
foreign reserves. It was thought that with the increased production due to Green 
Revolution, government can maintain buffer stock and India can achieve self-sufficiency 
and self-reliable. 

6. Marketising Agriculture: Agriculture was basically for subsistence and, therefore, 
less amount of agricultural product was offered for sale in the market. Hence, the need 
was felt to encourage the farmers to increase their production and offer a greater portion 
of their products for sale in the market. 

Question 8: 

Explain ‘growth with equity’ as a planning objective. 

ANSWER: 

Both growth and equity are the two important aspects of India’s five year plans. While 
growth refers to the increase in GDP over a long period of time equity refers to an 
equitable distribution of GDP so that the benefits due to higher economic growth are 
shared by all sections of population. Equity implies social justice. Growth itself is 
desirable but growth in itself does not guarantee the welfare of people. Growth is 
assessed by the market value of goods and services (GDP) and it may be possible that 
the goods and services that are produced may not benefit the majority of population. In 
other words, only a few with high level of living and money income may get the share of 
GDP. Hence, growth with equity is a rational and desirable objective of planning. This 
objective ensures that the benefits of high growth are shared by all the people equally 
and, hence, this not only leads to reduction of inequality of income, poverty promotion of 
egalitarian society but also enables everyone to be self-reliant. Therefore, to conclude, 
it can be said that growth with equity is the most important objective of an economic 
planning. 

Question 9: 

Does modernisation as a planning objective create contradiction in the light of 
employment generation? Explain. 
ANSWER: 

No, modernisation as a planning objective does not contradict employment generation. 
In fact both modernisation and employment generation are positively correlated. While 
modernisation refers to the use of new and modern technology in production process 



that may make some people lose their jobs in the initial stages. But gradually, the use of 
modern technology and input will raise the productivity and, consequently, the income 
of the people that will further raise the demand for goods and services. In order to fulfill 
this increased demand, there will be more job opportunities that will lead more people to 
be hired and, hence, more employment opportunities will be generated. Hence, both 
modernisation and employment generation are not contradictory but are complementary 
to each other. 

Question 10: 

Why was it necessary for a developing country like India to follow self-reliance as a 
planning objective? 
ANSWER: 

Self-reliance implies discouraging the imports of those goods that could be produced 
domestically. Achieving self-reliance is of prime importance for a developing country like, 
India as otherwise, it would increase the country’s dependence on foreign products. 
Dependence on foreign goods and services can promote economic growth of India but 
this would not contribute to the development of domestic productive resources. 
Dependence on foreign goods and services provides impetus to foreign country’s 
industries at the cost of domestic infant industries. Further, imports drain away the scarce 
foreign reserves that are of prime importance to any developing and underdeveloped 
economy. Therefore, achieving self-reliance is an important objective for developing 
countries in order to avoid themselves from being acquiescent to the developed nations. 

प्रश्न 1: 

 

 एक योजना को परिभाषित किें। 
 

 उत्ति: 

 

 एक योजना लक्ष्यों की एक प्रस्ताषित सूची है जजसे एक अर्थव्यिस्र्ा एक षिशिष्ट अिधि के भीति हाशसल 

किना चाहती है।  यह सूचीबद्ि लक्ष्यों को प्राप्त किने के शलए दलुथभ उपलब्ि संसािनों का उपयोग किन े

के इष्टतम तिीकों का सुझाि देता है।  भाित में ननयोजन पााँच ििथ की अिधि के शलए ककया जाता है, जजस े

पंचििीय योजना कहा जाता है।  योजनाओं के षिशिष्ट औि सामान्य दोनों लक्ष्य होते हैं।  कुछ सामान्य 

लक्ष्य आधर्थक षिकास, आिुननकीकिण, आत्मननभथिता औि समानता हैं।  योजनाए ंबनुनयादी ढांचे को 
ननिाथरित किती हैं जजस पि नीनतयां तैयाि की जाती हैं।  अक्सि षिशभन्न लक्ष्य एक-दसूिे के षििोिी होते हैं, 



उदाहिण के शलए, आिुननकीकिण श्रम िोजगाि को कम किता है।  इसशलए षिशभन्न लक्ष्यों के बीच संतुलन 

बनाए िखने की जरूित है। 
 

 प्रश्न 2: 

 

 भाित ने योजना बनान ेका षिकल्प क्यों चुना? 

 

 उत्ति: 

 

 आजादी के तुिंत बाद, भाित को पूंजीिाद या समाजिाद को चुनन े के शलए एक महत्िपूणथ षिकल्प का 
सामना किना पडा।  अंतत: सोषियत संघ में ननयोजन की असािािण सफलता से प्ररेित होकि भाित ने 
समाजिाद को चुना।  हालााँकक, भाितीय िाजनीनतक औि आधर्थक परिजस्र्नतयााँ उतनी अनुकूल नहीं र्ीं, 
जजतनी सोषियत संघों के शलए समाजिाद को चुनना र्ा, कफि भी भाित ने समाजिाद को अपनाया लेककन 

एक अंति के सार्।  भाित एक लोकतातं्रिक ढांचे में सािथजननक के्षि औि ननजी के्षि की सकिय भागीदािी पि 

जोि देने के सार् समाजिादी षिचाि पि टटका है।  योजना आयोग (1950) की स्र्ापना इस उद्देश्य से की 
गई र्ी कक सिकाि समग्र रूप से िाष्र के शलए व्यापक योजना बनाएगी, जहा ंसािथजननक के्षि बनुनयादी 
आधर्थक ढांचा तैयाि किेगा औि ननजी के्षि को आधर्थक षिकास में उनके सकिय योगदान के शलए प्रोत्साटहत 

किेगा। 
 

 प्रश्न 3: 

 

 योजनाओं के लक्ष्य क्यों होने चाटहए? 

 

 उत्ति: 

 

 प्रत्येक योजना के ननजश्चत लक्ष्य होन ेचाटहए।  लक्ष्य के त्रबना योजना आत्मा के त्रबना जीिन के समान है।  
जबकक एक योजना प्रस्ताषित लक्ष्यों को प्राप्त किने के शलए दलुथभ संसािनों को आिटंटत किने के सािनों 
औि तिीकों को ननटदथष्ट किती है, लक्ष्य अनंतम लक्ष्य होते हैं, जजनकी उपलजब्ि योजनाओं की सफलता 
सुननजश्चत किती है।  इस प्रकाि, योजनाओं में लक्ष्य िाशमल होने चाटहए। 
 



 प्रश्न 4: 

 

 उच्च उपज देन ेिाली ककस्म (HYV) बीज क्या हैं? 

 

 उत्ति: 

 

 उच्च उपज देने िाली ककस्मों के बीजों को मजेक्सको में नोबेल पुिस्काि षिजेता डॉ. नमथन बिलॉफ द्िािा 
षिकशसत ककया गया र्ा।  य ेबीज अधिक उत्पादक होते हैं औि उिथिकों औि कीटनािकों के अधिक उपयोग 

के सार्-सार् ननयशमत औि पयाथप्त शसचंाई सुषििाओं की आिश्यकता होती है।  1966 में, HYV बीजों के 

उपयोग के परिणामस्िरूप, भाितीय कृषि के्षि ने हरित िानंत का अनुभि ककया, षििेिकि चािल औि गेहंू 

की फसलों में।  HYV बीज सामान्य बीजों की तुलना में तेजी स ेबढ़ते हैं औि इसके परिणामस्िरूप, फसलों 
को बहुत कम समय में काटा जा सकता है।  प्रािंभ में, HYV बीजों का उपयोग पंजाब, आंध्र प्रदेि औि 

तशमलनाडु जैस ेिाज्यों में ककया जाता र्ा (क्योंकक इन िाज्यों में शसचंाई की अधिक उपयुक्त सषुििाएं र्ीं) 
औि बाद में अन्य िाज्यों में।  HYV बीजों के उपयोग के परिणामस्िरूप, 1967-68 में खाद्यान्न उत्पादन में 
25% (लगभग) की िदृ्धि हुई। 
 

 प्रश्न 5: 

 

 षिपणन योग्य अधििेि क्या है? 

 

 उत्ति: 

 

 षिपणन योग्य अधििेि एक ककसान द्िािा उत्पाटदत कुल उत्पादन औि उसकी कृषि खपत के बीच के अंति 

को दिाथता है।  दसूिे िब्दों में, यह कुल उत्पादन का िह टहस्सा है जजसे ककसान बाजाि में बेचता है। 
 

 षिपणन योग्य अधििेि = ककसान द्िािा उत्पाटदत कुल कृषि उत्पादन - कृषि उत्पादन की अपनी खपत 

consumption 

 

 प्रश्न 6: 

 

 कृषि के्षि में लागू ककए गए भशूम सुिािों की आिश्यकता औि प्रकाि की व्याख्या कीजजए। 



 

 उत्ति: 

 

 भाित में भशूम सुिािों की आिश्यकता ननम्नशलखखत कािणों से बहुत आिश्यक र्ी: 
 

 1. भूशम काश्तकाि प्रणाली: स्ितंिता के समय भाितीय कृषि के्षि में तीन प्रकाि की भशूम काश्तकािी 
प्रणाशलयााँ र्ीं, जमींदािी प्रणाली, महलिािी प्रणाली औि िैयतिािी प्रणाली।  इन तीनों प्रणाशलयों की 
सामान्य षििेिता यह र्ी कक भूशम पि ज्यादाति काश्तकाि खेती किते रे् औि भू-िाजस्ि का भुगतान उनके 

जमींदािों को ककया जाता र्ा।  इससे ककिाएदािों का अत्यधिक ककिाए के रूप में िोिण हुआ। 
 

 2. भूशम जोत का आकाि: ककसानों के स्िाशमत्ि िाली भूशम का आकाि बहुत छोटा र्ा।  इसके अलािा, भूशम 

जोत खंडडत ककया गया र्ा।  इसने आिुननक तकनीकों के उपयोग में बािा डाली। 
 

 3. पहल का अभाि: चंूकक अधिकािं भशूम पि जमीदंािों का स्िाशमत्ि र्ा, इसशलए ककसानों के पास पहल की 
कमी र्ी औि न ही उनके पास खेती के यंिीकृत तिीकों को अपनान ेके शलए पयाथप्त सािन रे्। 
 

 4. पािंपरिक दृजष्टकोण औि कम उत्पादकता: भाितीय ककसान पािंपरिक औि पािंपरिक आदानों औि 

षिधियों औि जलिाय ुपरिजस्र्नतयों पि भिोसा किते रे् जो कृषि के्षि की उत्पादकता में बािा उत्पन्न किते 

रे्। 

 

 5. षिपणन प्रणाली का अभाि: अच्छी तिह स ेषिकशसत षिपणन प्रणाली के अभाि के कािण, ककसान अपन े

उत्पाद को बाजाि में बेचने के शलए त्रबचौशलयों पि ननभथि िहते रे्।  ये त्रबचौशलए कृषि उत्पादों को बहुत कम 

कीमत पि खिीदकि बाजाि में अधिक कीमत पि बेचते रे्।  नतीजतन, ककसान को सही लाभ टहस्सा नही ं
शमला औि इसशलए, इससे खेत पि षित्त औि ननििे की कमी हो गई। 
 

 6. कृषि की प्रकृनत: खेती का मूल उद्देश्य ननिाथह के शलए र्ा।  अर्ाथत ्खेती मूल रूप से जीषित िहने के शलए 

की जाती र्ी न कक त्रबिी के शलए औि लाभ कमान ेके शलए। 
 

 भाितीय कृषि में उपिोक्त समस्याओ ंके कािण भूशम सुिाि किना बहुत आिश्यक र्ा।  भूशम सिुाि में 
ननम्नशलखखत चिण िाशमल हैं: - 
 



 1. त्रबचौशलयों को खत्म किना: भशूम सुिािों का मखु्य फोकस जमींदािों, जागीिदािों आटद जैसे त्रबचौशलयों 
को खत्म किना र्ा। जोतने िालों को जमीन का माशलक बनान ेके शलए कई कदम उठाए गए रे्। 
 

 2. ककिाए का षिननयमन: अत्यधिक लगान के रूप में काश्तकािों का िोिण ककया जाता र्ा।  पहली 
पंचििीय योजना में, ननिाथरित अधिकतम ककिाया कुल कृषि उपज का एक-चौर्ाई या एक-पांचिा ंटहस्सा 
र्ा (पंजाब औि हरियाणा को छोडकि, जहां यह rd र्ा)।  लगान के ननयमों न ेन केिल काश्तकािों के बोझ 

को कम ककया बजल्क उन्हें षित्त के बडे टहस्स ेके सार् खेत पि ननिेि किन ेमें सक्षम बनाया। 
 

 3. जोतों का चकबन्दी: चंूकक भशूम जोत छोटी र्ी औि खंडडत भी र्ी, इसशलए आिुननक औि उन्नत तकनीक 

के उपयोग के शलए भशूम जोत को समकेकत किना बहुत आिश्यक र्ा।  ककसानों को उनके षिशभन्न खंडडत 

भूखंडों में कुल भूशम के बिाबि समेककत जोत दी गई र्ी।  इससे उन्हें बड ेपैमाने पि उत्पादन से जडुे लाभ 

प्राप्त हुए। 
 

 4. भूशम की अधिकतम सीमा: इसका अर्थ है कक एक व्यजक्त के पास जो ननजश्चत भशूम हो सकती है, िह 

षििायी हो।  इस कदम के पीछे मूल उद्देश्य भशूम जोत के स्िाशमत्ि की समानता को बढ़ािा देना र्ा।  इसने 
कुछ ही हार्ों में भूशम जोत की एकाग्रता को समाप्त कि टदया।  सिकाि ननजश्चत भूशम से अधिक भशूम को 
जब्त कि भूशमहीन ककसानों में बांट देती र्ी। 
 

 5. सहकािी खेती: जोतों के उप-षिभाजन के कािण होने िाली समस्याओ ंका मकुाबला किने के शलए यह 

कदम उठाया गया र्ा।  व्यजक्तगत भूशम िािक द्िािा छोटे पैमान ेपि खेती न तो लाभदायक है औि न ही 
उत्पादक, इसशलए, इन कदमों न ेषिशभन्न ककसानों को अपन ेखेतों को पूल किन ेऔि संयुक्त रूप से खेती 
किने के शलए प्रोत्साटहत ककया।  इसस ेउत्पादकता में िदृ्धि हुई औि व्यजक्तगत ककसानों द्िािा अधिक 

लाभ साझा ककया गया। 
 

 

 

 प्रश्न 7: 

 

 हरित िांनत क्या है?  इस ेक्यों लागू ककया गया औि इससे ककसानों को क्या लाभ हुआ?  संक्षेप में बताएं। 
 



 उत्ति: 

 

 दसूिी पंचििीय योजना के उत्तिािथ में कम उत्पादकता, बाि-बाि अकाल औि कृषि उत्पादों के ननम्न स्ति 

के कािण, इन समस्याओं का मुकाबला किने के शलए षिशभन्न तिीकों का सझुाि देने के शलए एक टीम का 
गठन ककया गया र्ा।  टीम की शसफारििों के अनुसाि, सिकाि ने HYV बीजों, आिुननक तकनीकों औि 

उिथिकों, शसचंाई सषुििाओं औि रियायती ऋण जैसे इनपुट के उपयोग की िुरुआत की।  इन चिणों को 
सामूटहक रूप स ेगहन के्षि षिकास कायथिम (IADP) के रूप में जाना जाता है।  नतीजतन, ििथ 1967-68 में, 
खाद्यान्न उत्पादन में लगभग 25% की िदृ्धि हुई।  खाद्यान्न उत्पादन में इस पयाथप्त िदृ्धि के कािण, 

इस परिणाम को 'हरित िांनत' के रूप में जाना जाता है।  हरित िांनत िब्द में दो िब्द 'हरित' िाशमल हैं जो 
फसलों स ेजुडे हैं औि 'िांनत' पयाथप्त िदृ्धि से सबंधंित है। 
 

 हरित िांनत की आिश्यकता 
 

 हरित िांनत की आिश्यकताएाँ इस प्रकाि हैं। 
 

 1. कम शसचंाई सुषििा: 1951 में अच्छी तिह से शसधंचत औि स्र्ायी शसधंचत के्षि केिल 17% र्ा। के्षि का 
बडा टहस्सा ििाथ पि ननभथि र्ा औि इसके परिणामस्िरूप, कृषि उत्पादन के ननम्न स्ति से पीडडत र्ी। 
 

 2. पािंपरिक औि पािंपरिक दृजष्टकोण: पािंपरिक आदानों के उपयोग औि आिुननक तकनीकों के अभाि ने 
कृषि उत्पादकता को औि बाधित ककया। 
 

 3. अकाल की बािंबािता: भाित में अकाल 1940 से 1970 के दिक की अिधि के दौिान बहुत बाि आते रे्।  
इसके अलािा, जनसंख्या की उच्च िदृ्धि दि के कािण, कृषि उसी गनत से बढ़न ेमें षिफल िही। 
 

 4. षित्त की कमी (िेडडट): छोटे औि सीमांत ककसानों को सिकाि औि बैंकों से सस्ते दि पि षित्त औि ऋण 

प्राप्त किना बहुत मुजश्कल र्ा, इसशलए, साहूकािों का आसान शिकाि हो गया। 
 

 5. आत्मननभथिता: पािंपरिक कृषि पद्िनतयों, कम उत्पादकता औि बढ़ती आबादी को खखलाने के शलए, 

अक्सि खाद्यान्न आयात ककया जाता र्ा जो दलुथभ षिदेिी भडंाि को बहा देता र्ा।  यह सोचा गया र्ा कक 



हरित िांनत के कािण बढे़ हुए उत्पादन स ेसिकाि बफि स्टॉक बनाए िख सकती है औि भाित आत्मननभथि 

औि आत्मननभथि हो सकता है। 
 

 6. षिपणन कृषि: कृषि मूल रूप से ननिाथह के शलए र्ी औि इसशलए, बाजाि में त्रबिी के शलए कृषि उत्पाद की 
कम मािा की पेिकि की गई र्ी।  इसशलए, ककसानों को अपना उत्पादन बढ़ाने औि अपने उत्पादों का एक 

बडा टहस्सा बाजाि में त्रबिी के शलए पेि किने के शलए प्रोत्साटहत किने की आिश्यकता महससू की गई। 
 

 प्रश्न 8: 

 

 ननयोजन उद्देश्य के रूप में 'समता के सार् िदृ्धि' की व्याख्या कीजजए। 
 

 उत्ति: 

 

 षिकास औि इजक्िटी दोनों ही भाित की पंचििीय योजनाओं के दो महत्िपूणथ पहलू हैं।  जबकक षिकास का 
तात्पयथ लबंी अिधि में सकल घिेलू उत्पाद में िदृ्धि से है, इजक्िटी का तात्पयथ सकल घिेलू उत्पाद के समान 

षितिण से है ताकक उच्च आधर्थक षिकास के कािण होने िाल ेलाभों को जनसंख्या के सभी िगों द्िािा साझा 
ककया जा सके।  समानता का तात्पयथ सामाजजक न्याय से है।  षिकास अपने आप में िांछनीय है लेककन 

षिकास अपने आप में लोगों के कल्याण की गािंटी नही ंदेता है।  षिकास का आकलन िस्तुओं औि सेिाओ ं

के बाजाि मूल्य (जीडीपी) द्िािा ककया जाता है औि यह संभि हो सकता है कक उत्पाटदत िस्तुओं औि सेिाओ ं

से बहुसंख्यक आबादी को लाभ न हो।  दसूिे िब्दों में, उच्च स्ति के जीिन स्ति औि िन आय िाल ेकुछ ही 
लोगों को सकल घिेल ूउत्पाद का टहस्सा शमल सकता है।  इसशलए, इजक्िटी के सार् षिकास योजना का एक 

तकथ संगत औि िांछनीय उद्देश्य है।  यह उद्देश्य सुननजश्चत किता है कक उच्च षिकास के लाभ सभी लोगों 
द्िािा समान रूप से साझा ककए जाते हैं औि इसशलए, इससे न केिल आय की असमानता में कमी आती है, 

समतािादी समाज की गिीबी को बढ़ािा शमलता है बजल्क सभी को आत्मननभथि होने में भी मदद शमलती है।  
इसशलए, ननष्किथ ननकालने के शलए, यह कहा जा सकता है कक इजक्िटी के सार् षिकास एक आधर्थक योजना 
का सबसे महत्िपूणथ उद्देश्य है। 
 

 प्रश्न 9: 

 



 क्या ननयोजन उद्देश्य के रूप में आिुननकीकिण िोजगाि सजृन के आलोक में षििोिाभास पैदा किता है?  

समझाओ। 
 

 उत्ति: 

 

 नहीं, ननयोजन उद्देश्य के रूप में आिुननकीकिण िोजगाि सजृन का खडंन नहीं किता है।  िास्ति में 
आिुननकीकिण औि िोजगाि सजृन दोनों सकािात्मक रूप से सहसबंद्ि हैं।  जबकक आिुननकीकिण 

उत्पादन प्रकिया में नई औि आिुननक तकनीक के उपयोग को संदशभथत किता है जो कुछ लोगों को प्रािंशभक 

चिणों में अपनी नौकिी खो सकता है।  लेककन िीिे-िीिे, आिुननक तकनीक औि इनपुट के उपयोग स े

उत्पादकता बढे़गी औि परिणामस्िरूप, लोगों की आय, जो िस्तुओं औि सिेाओं की मांग को औि बढ़ाएगी।  
इस बढ़ी हुई मांग को पूिा किने के शलए, अधिक िोजगाि के अिसि होंगे जजससे अधिक लोगों को काम पि 

िखा जाएगा औि इसशलए, अधिक िोजगाि के अिसि पैदा होंगे।  अतः आिुननकीकिण औि िोजगाि सजृन 

दोनों पिस्पि षििोिी नहीं हैं बजल्क एक दसूिे के पिूक हैं। 
 

 प्रश्न 10: 

 

 भाित जैसे षिकासिील देि के शलए योजना के उद्देश्य के रूप में आत्मननभथिता का पालन किना क्यों 
आिश्यक र्ा? 

 

 उत्ति: 

 

 आत्मननभथिता का तात्पयथ उन िस्तुओं के आयात को हतोत्साटहत किना है जजनका घिेलू स्ति पि उत्पादन 

ककया जा सकता है।  भाित जैसे षिकासिील देि के शलए आत्मननभथिता प्राप्त किना प्रमुख महत्ि है 

अन्यर्ा, यह षिदेिी उत्पादों पि देि की ननभथिता को बढ़ाएगा।  षिदेिी िस्तुओं औि सेिाओं पि ननभथिता 
भाित के आधर्थक षिकास को बढ़ािा दे सकती है लकेकन यह घिेलू उत्पादक संसािनों के षिकास में योगदान 

नहीं देगी।  षिदेिी िस्तुओं औि सेिाओं पि ननभथिता घिेलू शििु उद्योगों की कीमत पि षिदेिों के उद्योगों 
को प्रोत्साहन प्रदान किती है।  इसके अलािा, आयात दलुथभ षिदेिी भंडाि को बहा देता है जो ककसी भी 
षिकासिील औि अषिकशसत अर्थव्यिस्र्ा के शलए प्रमुख महत्ि का है।  इसशलए, षिकासिील देिों के शलए 

आत्मननभथिता प्राप्त किना एक महत्िपूणथ उद्देश्य है ताकक खुद को षिकशसत िाष्रों से परिधचत होने स े

बचाया जा सके। 
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